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THIRD SEMESTER

ELECTRONICS AND TELECOMMUNICATION
ENGINEERING/OPTO ELECTRONICS/ELEX. &
INSTRUM. ENGG.

SCHEME JULY 2008
DIGITALELECTRONICS
Time : Three Hours Maximum Marks : 100
Note : i) Attempt total five questions out of eight.
el TS X | Gra 0T g o]

ii) In case of any doubt or dispute, the English
version question should be treated as final.

et +ft R & Heg et g & AT |
STSTT 9T 3 WeT @ e wEn wR

1. a) Whatis Hamming code? Why it is used? Write a

short note on it. 6
i e T 2?7 | T4 wgFa fba Sian 27
Hfag feogoft forai|
b) Write differences between weighted and
unweighted codes. ' 3
g P 3R 3MRT Dig & TR TE i |
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c) How are binary and hexadecimal numbers are

related? Explain in brief. 3
TR 3R SR HaR b avg | Hafde &
Hay ¥ fora|

d) Convert following numbers into their binary
equivalent. 8
FreforRed el @1 S0 Tged IR eI 3
geAT-
1) 72.45
ii) 101.647

2. a) Simplify the following logical expression. 6

r=feRed aAffime THIPRUT B gl Dol |
1) Y=ABC+ABC+ABC+ABC
i) Y= ABC+A§(E]

b) Draw symbol and truth table for basic logic

gates. 3
IRy AT e 1 et forg 3R Foadr |Arft
T |
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c) Draw clock signal. Why it is used in digital
circuits. 3
Faite Rrea &1 o e fesfiea wfde 5 50 &
TRy foba ST 27

d) Simplify following, expression into sum of
product form and realize using NAND gate
only. 8
FefeaRea Tt @ F9 316 disee @ B9 4
foral 3iik fyds NAND e & g9
F=2m(6,8,9, 10,11, 12, 13, 14, 15)

3. a) Write down differences between positive edge
and negative edge triggering? 3
g Ot feni siik soomena Ut el § afeR
TE R |

b) Write down major appll ications of a multiplexer.

3
TR b 9 S9N |

¢) Draw logic circuit diagram for 1 to 16 line
demultiplexer. Also draw its truth table. 8
1:16 TS SHECIITER F AD ADC STHH
g 3R wegar |l oft g9l
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d)

b)

d)

@)

Compare TTL, ECL and CMOS logic family on

the basis of packing density, speed of operation
and Noise immunity. 6

TTL, ECL 3R CMOS @i Hideft 7 dfdn
SRS, afmed & i iR Aiga e &
YR W o1 DI |

Whichis a 1 bit memory device? Write in brief.

3
| fie 3K 2 - 2, g 3 el
How are memory cells organised? 3

A9 Yot forg aRg TS B £ 2 THEER

Write down differences between ROM and
RAM. 6

ROM 3R RAM ¥ 3fcR ¥9€ & |
Compare floppy disk, and hard disk in detail. 8

Tt foem 3k grd v &t Rsga gom IR

What is Race around condition? Write in brief.
3

T INS-s Ruf Far &, 94u & fomal
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b)

d)

b)

()

What are asynchronous inputs? Why ame they
used? 3
TR $AYC 41 8 3R 3% 941 gEa e
SR ?

Write down differences between combinational
circuits and sequential circuits with examples. 6
P e fbe AR BiFa e Al H Iqexvl
AT HR FE R |

Draw JK flip-flop with basis gate and explain its
working with truth table. 8

4f%e fic 1 ST P g8 JK Ry - a1
7 g9 9T 595! PRI Tead TRl g9
AT

Define Accuracy and resolution. 3

el (aRega) ik Relieage § afm Rl

What will be the values of weighted resistors in
4 bit weighted resistor D to A converter. 3

4 fa ace Weed DA AF=ack ¥ dee wfemig
&1 A forati
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d)

b)

(6)

What type of errors occurred inAtoDand Dto A
converters. Explain in brief. 6

AR D3R D& ATk A g JoR 6 Fieal
et 2 Hau § FeEE |

Explain successive approximation method of |
A to D converters with suitable diagram. 8

FRg TIfREHH JPR & A ¥ D Ty @l
Sy s &Y wgrar | S|

What are programming logic devices? 3
T @A gfdaa Far g ?

How does architecture of PAL differ from
PROM? Write in brief. 3

PAL &1 anfdcaary PROM & o avg 394 &,
H89 ¥ forgt

How PLD is different from CPLD and FPGA?
Write in brief. 6
PLD, CPLD 3R FPGA 3 g evg s &, dém &
foran
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d) Explain block diagram of PLA’s in detail. 8
PLA’s @\ siich SRIIT §1aR fIRTR & THegd|

8. a) Whatkind of register can have a complete 4-bit
binary number loaded into it in one operation and
then have shifted out one bit at a time. How many
clock pulses needed to have complete output. 3

5 yoR & FRER ¥ 4-ffe TR FR @
TR F &g & ST 2 3R U 99y ¥ U fae
TSy WTH BT 81 39 TRE Tof 3MTSeYe HIH &

¥ ford fopait Foilep UoT Pt emaegamar gnftl
b) Determine the Number of FF’s that would be
required to build 3

i) Mod-6 counter and

i) Mod-15 counter

i) #8-6 PSR AR
i) AS-15 PrEex
g1 & R} o FF's & arasadsar grit ?
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c) Describe parallel-iﬁ-parallel out shift register. 6
UReTeT - FT—IReTel ST e VR ot T |
d) Draw logic diagram of 3-bit binary ripple couater,

timing diagram and explain. 8

3-foe R Ruet drever @1 diivie SR 991,

SIS S 91 SR Ty |
Ay
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